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Note : This paper is of seventy (70) marks containing 

three (03) sections A, B and C. Learners are 

required to attempt the questions contained in these 

sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Explain the natural resources of India. 

Hkkjr ds izkd`frd lalk/kuksa dh O;k[;k dhft,A 

2. What are the various methods to remove 

unemployment in India ? 

Hkkjr esa csjkstxkjh nwj djus ds fofHkUu mik; D;k&D;k gSa \ 

3. Describe the present scenario of Indian economy. 

Hkkjrh; vFkZO;oLFkk dh orZeku n’kk dk o.kZu dhft,A 

4. Write an essay on Globalization. 

Hkwe.Myhdj.k ij ,d fucU/k fyf[k,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer six (06) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA  

Briefly discuss the following : 

fuEufyf[kr dh la{ksi esa ppkZ dhft, % 

1. Indian Agriculture. 

Hkkjrh; d`f”kA 

2. Liberalization. 

mnkjhdj.kA 

3. Food Security in India. 

Hkkjr esa [kk| lqj{kkA 
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4. World Trade Organization. 

fo’o O;kikj laxBuA 

5. National Income. 

jk”Vªh; vk;A 

6. Human Resource. 

ekuoh; lalk/kuA 

7. Inflation. 

eqnzkLQhfrA 

8. Economic Planning. 

vkfFkZd fu;kstuA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

State True/False of the following statement : 

fuEufyf[kr dFkuksa esa lR;@vlR; crkb, % 

1. Debt in big amount disturbs fiscal management.   

     (True/False) 

T;knk ek=k esa _.k jktdks”kh; izcU/ku fcxkM+ nsrk gSA  

    ¼lR;@vlR;½ 
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2. With time the debt is increasing on Indian economy.  

     (True/False) 

le; ds lkFk Hkkjrh; vFkZO;oLFkk ij _.k c<+ jgk gSA  

    ¼lR;@vlR;½ 

3. Forestry is related to primary sector. (True/False) 

okfudh izkFkfed {ks= ls lEcfU/kr gSA  ¼lR;@vlR;½ 

4. Balance of payments is always balanced. (True/False) 

Hkqxrku lUrqyu ges’kk lUrqfyr jgrk gSA ¼lR;@vlR;½ 

5. In inflation the value of money decreases. (True/False) 

eqnzkLQhfr esa eqnzk dk ewY; ?kV tkrk gSA ¼lR;@vlR;½ 

Choose the correct answer : 

lgh mŸkj dk p;u dhft, % 

6. Which of the following is an example of a non-banking 

financial institution ? 

(a) Commercial Bank 

(b) RBI 

(c) Co-operative Bank 

(d) L. I. C. 

fuEufyf[kr esa ls dkSu&lk xSj&cSaÇdx foŸk laLFkku dk ,d 

mnkgj.k gS \ 

¼v½ okf.kfT;d cSad 

¼c½ vkj- ch- vkbZ- 

¼l½ lgdkjh cSad 

¼n½ ,y- vkbZ- lh 



 [ 5 ] BAEC–102/EC–02 

A-53 P. T. O. 

7. Nationalization of 14 Banks took place in : 

(a) 1965 

(b) 1969 

(c) 1973 

(d) 1975 

14 cSadksa dk jk”Vªh;dj.k gqvk % 

¼v½ 1965 esa 

¼c½ 1969 esa 

¼l½ 1973 esa 

¼n½ 1975 esa 

8. NABARD was set up in : 

(a) 1980 

(b) 1982 

(c) 1986 

(d) 1989 

ukckMZ dh LFkkiuk gqbZ % 

¼v½ 1980 esa 

¼c½ 1982 esa 

¼l½ 1986 esa 

¼n½ 1989 esa 

9. Adam Smith advocated : 

(a) Free Trade 

(b) Custom Duty 

(c) Quantitative Restriction 

(d) None of the above 
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,Me fLeFk us odkyr dh& 

¼v½ eqDr O;kikj 

¼c½ lhek ‘kqYd la?k 

¼l½ ek=kRed izfrcU/k 

¼n½ mi;qZDr esa ls dksbZ ugha 

10. When did Reserve Bank of India started working ? 

(a) 8
th

 September, 1933 

(b) 6
th

 March, 1934 

(c) 1
st
 April, 1935 

(d) None of the above 

Hkkjrh; fjtoZ cSad us dc dk;Z djuk izkjEHk fd;k \ 

¼v½ 8 flrEcj] 1933 

¼c½ 6 ekpZ] 1934 

¼l½ 1 vizSy] 1935 

¼n½ mi;qZDr esa ls dksbZ ugha 
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